ic®
Polaris EVERY RIDE HAS A STORY

RZR® Turbo S

Sport Front Bumper/Skid Plate Instructions (P187P360) (P187P363)

***NOTE: Prior to installation, please verify if a revised version of this instruction sheet is available on proarmor.com.***

[

Place PEM plate undr frame as shown, hand
tighten center M8 bolt.

s
Place provided chassis bracket as shown on Place hook bracket behind frame and hook
top of frame and hand tighten outer 2 M8 bolts. onto ledge.

L .

Position bumper on vehicle. Hook the top Place provided spacer between lower mounting
mounting plate over plastic. plate of the bumper and the frame & hand tighten

2 M10 bolts.

Hand tighten 2 M8 bolts to chassis bracket Position bumper, Torque down all screws
installed in step 3. (4-Top/2 Bottom bolts)

Pro Armor | 1123 Sherborn St. Corona, Ca. 92879 | 888.312.7667 | www.proarmor.com

[For further information on installation instructions and warnings please visit our website]



Polaris®
EVERY RIDE HAS A STORY

RZR? Turbo S

Sport Front Bumper/Skid Plate Instructions (P187P360) (P187P363)

Replace grille removed in step 1. Confirm all bolts,

Install skid plate using 4 M6 Bolts. Tighten upper and lower have been properly tightened,

so plate is secure.

[ AWARNING |

+ Never stick hands, head or arms outside of vehicle at any time when it is in motion.

- Always wear and use proper safety equipment when using any Pro Armor product.

- Improper use of directions and/or product can result in injury to yourself or damage to your vehicle.

- Disclaimer please read: This product is sold without warranty expressed or implied. No warranty or representation is made as to the products
ability to protect the user / occupant from any injury or death in any manner of use. The user assumes that risk. The effectiveness of this equipment is
directly related to the manner in which it is installed, used, and / or maintained.

Proper installation is solely the responsibility of the installer, and will not be assumed by Pra Armor.

- Ifyou have questions about your installation or are unable able to complete installation, contact Pro Armar Customer Service (888)312-7667 or have an

authorized dealer or trained technician, inspect your installation.

)

Pro Armor | 1123 Sherborn St. Corona, Ca. 92879 | 888.312.7667 | www.proarmor.com

[For further information on installation instructions and warnings please visit our website]



Polaris® RZR® PROARMOR

EVERY RIDE HAS A STORY
XP 1000/XP Turbo - ?

Sport Front Bumper/Skid Plate Instructions [(P187P360) (P187P363)

***NOTE: Prior to installation, please verify if a revised version of this instruction sheet is available on proarmor.com.***

Remove grille from vehicle.

. o TE
" P

Place PEM plate behind frame & hand tighten
2 M10 bolts. (XP & XP Turbo)

Install skid plate using 4 M6 Bolts. Tighten
so plate is secure.

Improper Use ol OF Highway Yehicles
Cam Couse Sovere Injury oo Death

Ba Prapassd

bt il bk

= Vs an approue Rl ans
[
Frsemved for METLIDE Mot
ke corUpan eyt device |

- R ket st e bl A . el i, gt
i, Pt Pl s P [ B i, o Pt
4 il e | o Ranahal sl whes
g, iy coampletely il B vebacke

B Sure Radery Pay Adienion and Man Alead
' o i, o el The e Py o o ol
ek o ik o ey

= Mg 3 s i Wi e v
Farsdbuckh sradin e prset!

= ks et sy it ol o Batnchy’ st i

= bl for any reason

Replace grille removed in step 1. Confirm all bolts,

upper and lower have been properly tightened.

Pro Armor | 1123 Sherborn St. Corona, Ca. 92879 | 888.312.7667 |

WWWwW.proarmor.com
[For further information on installation instructions and warnings please visit our website]



